Urban Crime

Why study crime?

1. Most occurs in metropolitan areas.

2. Households are sensitive to crime rates, contributing to suburbanization

3. Crime affects location of people among cities

Index crimes

FBI in the Uniform Crime Reports data from local police departments includes seven index crimes divided into (1) personal crimes and (2) property crimes.

1. Personal crimes are murder, rape, aggravated assault, and robbery.

2. Property crimes are auto theft, larceny, and burglary.

3. The crime rate is reported as number of incidents per 1000 population.

Crime victims vary with income, place of residence, and race.

Crime causes changes in the price of housing (a one percent increase in the crime rate decreased average property valued by $336)

The Rational Criminal and the Supply of Crime

1.  Expected revenue from crime

:

The expected value of loot is as follows:  EL = Ps x Loot  (Ps is the price of loot if successful crime)

2. Expected cost of crime

The opportunity cost of time spent in prison Pi = Pa x Pp where Pa is the probability of beings arrested and Pp is the probability of being sent to prison once arrested.

Pi is determined by the loss of liberty, freedom, and foregone wages.  

The Aversion to Crime:  Most people have a moral aversion to crime at any price, while others command a high expected return in order to commit crime.  In general, the supply curve for crime is upward sloping with respect to expected return and shifts to the left with increased aversion.  Greater skill in committing crime shifts the supply curve to the right.

The supply curve can also be influenced by public policy

1. A larger police force increases the probability of arrest and lowers the net expected return from crime, shifting the supply curve to the left.

2. Marginal criminals go straight if the return on crime is not enough to cover the cost.

Is there an optimum amount of crime?

1. The social cost of crime can be divided into victim cost and prevention cost. The victim cost is positively sloped and linear.

2. The prevention cost falls rapidly for the first units of crime but then flattens as the number of cases increases.  

3. The total cost of crime prevention is U-shaped with total cost minimized at it bottom.

Options for crime prevention:

1. Hardening the target (decrease the expected loot by decreasing the expected success of the target)

2. Increase the probability of arrest (hire more police officers)

3. Increase the probability of imprisonment (raise expected cost to criminal)

4. Increased severity of punishment (lengthen sentences to raised expected cost to criminal)

5. Increased value of legal opportunities (raise opportunity cost by raising attractiveness of legal activity—job skills education, etc.)

How does insurance affect crime?

1. Insurance rates raise the moral hazard problem (people don’t lock their cars)

What about deterrence versus incapacitation and the “three strikes” laws?

1. Does the “three strikes” law have a deterrent effect?

2. The problem is that the “three strikes” law is likely to occur late the criminal’s career when is marginal rate of committing crime is decreasing.  Then the effect is primarily incapacitation which is likely to cost more than benefits received.  (the cost of imprisonment about $23,000 per year for many years.)

3. The principle of marginal deterrence is that the penalty should be scaled to the severity of the crime, including the ‘spillover effects’ on society.

